8791830 ML QN ]E

INDUSTRIAL

Pfislusenstvi:




order No. set order

description popis qty/ks / obj. ¢islo No./ obj.

dilu ¢islo sady
1 Nut 30 matice 30 1
2 Hexagon socket Screw M3x10 Vnitini $estihran Sroub M3x10 2
3 Output shaft Vystupni hridel 1
4 Tool bit nastrojovy bit 1
5 Needle jehla 1
6 Screw M5x8 Sroub M5x8 1
7 Needle base zakladna jehly 1
8 Connector konektor 1
9 Pin 6x14 Cep 6x14 1
10 Gear box prevodova skiin 1
1 Tapping screw ST4x35 zavitofezny Sroub ST4x35 4
12 Needle bearing TAF81510 jehlové lozisko TAF81510 1
13 Connecting rod ojnice 1
14 Needle bearing HK1612 jehlové lozisko HK1612 1
15 Crank shaft klikova htidel 1
16 key 3x10 kli¢ 3x10 1
17 Gear ozubené kolo 1
18 | Washer ¢8.2x(16x0.5 podlozka ¢8,2x¢p16%0,5 1
19  Needle bearing HK0810 jehlové lozisko 1
20  Positioning needle polohovacijehla 1
21 Spring washer 4 pruzinova podlozka 1
22 Screw M4x10 Sroub M4x10 1
23  Needle bearing HK0609 jehlové lozisko 2
24 | Gear shaft prevodova hridel 1
25  Output gear vystupni ozubené kolo 1
26 | Washer ¢6.2x¢15%0.5 podlozka @6,2x¢15x0,5 1
27 Pin 3x11 cep 3x11 1
28 gasket seal tésnéni 1
29 : Middle cover stredovy kryt 1
30  Rubber pin gumovy kolik 1
31 Oil block washer tésnici podlozka 1
32 Ball bearing608.2RS kulickové lozZisko 1
33  Armature rotor 1
34  Ball bearing 607.2RS kulickové lozisko 1
35 Stator stator 1
36 Rating label Stitek 1
37  Housing kryt 1
38 | Tapping screw ST4x16 zavitofezny Sroub ST4x16 5
39 | Tapping screw ST3x8 zavitofezny Sroub ST3x8 2
40  Battery pack fixing-R pravy drzék baterie 1
41 Filter cover-R filtracni krytka - R 1
42 Controller fidici jednotka 1
43 Switch bezpecnostni spinac 1
44 Pin kolik 1




order No. set order

description popis qty/ks / obj. ¢islo No./ obj.

dilu ¢islo sady
45 Knob knoflik 1
46 Spring pruzina 1
47 Switch button spinaci tlac¢itko 1
48 | Handle rukojet 1
49  Battery pack fixing-L levy drzak baterie 1
50  Plug cover kryt zastrcky 1
51 Connecting copper sheet deska s kontakty 1
52 Logo label stitek s logem 1
53 | Filter cover-L filtra¢ni krytka -L 1
54 Nut Spanner kli¢ na matice 1
55 Spanner 2.5 inbus kli¢ 1
56 : Battery baterie 1




